int m, n =5

main ()

{

£()

g()

get m, n
if m > n then
print g()
else
print £()

int m
m=n+m

if g() = m then
return £()*2
else
return g()

n++

if £() = m then
return g () *m
else
return £()—-n



CONDOTIRWN—=O =

-

SET3,5

SET 2, READ

SET 3, READ

JUMPT 14, D[2] < D[3]

SET WRITE, D[D[1]]
JUMP 21

SET WRITE, D[D[1]]
HALT

SET D[0]+3, D[D[1]]

SET D[0]-1, D[D[1]]
SET 0, D[D[0]+1]
SET 1, D[0]-1

JUMP D[D[1]+1]

SET D[0]-1, D[D[0]+3]
JUMP 38

etc...

SET D[0]+2, D[3]+D[D[0]+2]

JUMPT 41, D[D[0]+3]<>D[D[0]+2]

Comment

initialize n
getm
getn

print g(.)
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()

Code segment for f(.) starts

;

Return sequence

Code segment for g(.) starts



